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C = MPCLR×Yd 

 

ΔC = MPCSR×ΔYd 

 

A+1 = A + R×A + E – T – C 
 

Yd = R×A + E – T 
 

S = R×A + E – T – C 
 

R = r + πe  
 

RK = (R + δK)×PK 
 

RK = (R + δK)×PK – (PK(+1) – PK) 
 

IK = K* – K*-1 + δK×K*-1 
 

K* = v×Y 
 

IK = v×(Y – Y-1) + δK× v×Y-1 
 

IK = s×(K* – K-1) + δK×K-1 
 

RK = [(1 – z)×(R + δK)×PK]/[1 – u] 
 

RH = (R + δH)×PH 
 

IH = H* – H-1 + δH× H-1 
 

RIN = R×PIN 
 

CU = Paper money + Coins 
 

TR = Bank deposits held at the Fed + Vault cash 
 

MB = CU + TR 
 

M1 = CU + ChD 
 

M2 = M1 + savings accounts + small time deposits (CDs) + money market mutual funds 
 

TR = RR + ER 
 

RR = rr×ChD 
 

ER = e×ChD 
 

CU = c×ChD 
 

MS = [(1 + c)/(rr + e + c)]×MB
 

 



Total reserves = Borrowed reserves + Nonborrowed reserves 
 

OCM = R – RM 
 

M = YM/(2×z) 
 

M = ((k×YM)/(2×OCM))1/2 

 

R = π + βπ×(π – π*) + βY×[(Y – Y*)/Y*] + re* 
 
 


